Question Paper Preview

Question Paper Name: ENGINEERING 26th April 2017 Shiftl
Subject Name: ENGIMEERING

Display Number Panel: Yes

Group All Questions: No

Question Number : 1 Question Id : 1017174481 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

LetA={—4.-2.-1.0.3.5} and f/: A— R be defined by

fid

3x—1 for x>
r 7 - -
f(x)=<x"+1for 3<x<3

-

2x—3 for x<-3

Then the range of f 18

A={4.-2-10.3.5 b f:A>RD fl®¥)=9x" +1 . 3<x<3 8§

a6 QEgfioTSdblod. Wy fﬂ‘-éiﬁ
F. B i

Options :

{11.-7.2.1. 8. 14)
{~11.5.2.1.8. 14}

{-11,5.2.1.10. 14}

{~11.-7.-5.1. 10. 14}

l

Question Number : 2 Question Id : 1017174482 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Let [1 be the set of all natural numbers. 7 be the set of all integers and o : 11— L be
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If a. b. ¢ are non zero real numbers and if the equations (a— 1) x=v+z.(b—1)v=z+x.
(¢ —1) z=x+y have a non-trivial solution. then ab+ bc+ ca =
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If a system of three linear equations in three unknowns. which 1s in the matrix equation

1 3 L : rank of A
form of AX =D. is inconsistent. then 1
rank of AD
Saeth SworHen fe Sord IEHTE HEGere SgIP SrBs dEspo AX=D drios®

Aaan 5, E'£3
AD 5o 568

—=
=

=i
F ol

Gotr &f wdofEin wond Il

I L".

Options :
Greater than or equal to one

1 0,805 B¢ 588 S0 olala
= L.



One
2 By g ’E’:E'

Greater than one

i)

; -1, !:fa:i 23856
Less than one
i B.8¢S !:f;ri f.;:éj.-f:.

Question Number : 6 Question Id : 1017174486 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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If A=|-cosé 1 cos@ |. then A lies in the interval
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If - 1s a complex number with |z | = 5. then the least value of
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If & is a non-real root of ¥’ = 1. then o1+ a'j(-l+a2 - &’4] =
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If the roots of the equation x° — 7x” + 14x — 8 =0 are in a geometric progression. then the
difference between the largest and the smallest roots is
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If o 8. v are the roots of ¥° + px” + gx +7=0. then the value of [1+ o’ ){1 + ,83][1 +? )
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The number of different ways of preparing a garland using 6 distinct white roses and
5 distinct red roses such that no two red roses come together. is
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There are 10 intermediate stations on a railway line between two particular stations. The
number of ways that a train can be made to stop at 3 of these intermediate stations so that
no two of these halting stations are consecufive. 1s
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The coefficient of x° in the expansion of (1+ .1:]21 +(1 +;.;}33 4+ (14 _1_-}3{: 15
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If tan ¢ and tan B are the roots of the equation y*+py+¢=0. then the value of
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In A ABCif 8 1s any angle. then hcos(C+8 ) +ccos(B—6 )=
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In A ABC. if bcos@ = c —a. (where @ is an acufe angle). then (¢ —a)tan 8 =
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If . S. yare the lengths of the tangents from the vertices of a triangle to its in-circle. then
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The triad (x. v. =) of real numbers such that
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In A ABC. L. M. N are points on BC. CA. AB respectively. dividing them in the ratio
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If a non-zero vector @ is parallel to the line of intersection of the plane determined by the

vectors 7 — k.37 —2k and the plane determined by the vectors 27+ 37.7 —3 .thenthe

angle between the vectors 7 and T+ T4k 1s
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If 7. b and ¢ are non-zero vectors such that @ and b are not perpendiculal‘ to each other.
then the vector 7 which is perpendicular to @ and satisfying 7 x b =¢ x b is
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If the volume of the tetrahedron formed by the coterminous edges @. b and © is 4. then the

volume of the parallelopiped formed by the coterminous edges axb. b xz and Txa is
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If the points having the position vectors 37 —27 —k. 27 +37 —4k.—7 + j+2k and

47 +57 + Ak are coplanar. then A=
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The variance of the following data 1s
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If & =0 and the mean deviation of the observations {ke). for /= 1. 2. ..., 50 about its
median is 50, then |¢| =
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If three numbers are drawn at random successively without replacement from a set
S={1.2..... 10}. then the probability that the minimum of the chosen numbers is 3 or their
maxinmumis 7. is
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A bag P contains 5 white marbles and 3 black marbles. Four marbles are drawn at random
from P and are put in an empty bag Q. If a marble drawn at random from Q 1s found to be
black. then the probability that all the three black marbles in P are transfered to the bag Q.
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Given below 1s the distribution of a random variable X
X=x 1 2 3 4
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If the mean and variance of a binonual variate X are % % respectively. then P (X=2)
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P-X{ XYooy and gL vy v L Vo are two anithmetic progressions with common differences
a and b respectively. If o and § are the arithmetic means of x,. x,. ... x, and y,. v,. ... ¥,
respectively. then the locus of P (e ) 1s
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The point to which the origin 1s to be shifted to remove the first degree terms from the
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The incentre of the triangle formed by the straight lines y =+/3x. 3= —/3x and 3= 3 is
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The set of all values of *a” such that both the points (1. 2) and (3. 4) lie on the same side of
the line 3x -5y +a=0
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The points on the straight line 3x—4y+ 1 =0 which are at a distance of 5 units from the
point (3. 2) are
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The equatiﬂu of the pair of lines through the point (2. 1) and perpendicular to the pair of
lines 4xy +H2x+6v+3=01s
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If the pair of lines e l6pxy—» ?=0andx’— 16gxy— =0 are such that each pair bisects
the angle between the other pair. then pg=
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The figure formed by the pairs of lines 6x~ + 13xy+ 61” =0 and
6xF + 13vr+ 62 + 10x+ 10y +4=0. is a
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A circle having centre at the origin passes through the three vertices of an equilateral mangle
the length of 1its median being 9 units. Then the equation of that circle 1s
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If a cirele with radius 2.5 units. passes through the points (2. 3) and (5. 7). then its centre 15
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If 2ix + 3y — 1 =0. 2x + v+ 5=0 are conjugate lines with respect to the circle
2 +_11'2 —2x—4v—4=0.then k=
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If the point of intersection of the tangents drawn at the points where the line 5y +y+1=0
- . 7 - . -
cuts the circle x™ +17 —2x -6y —8 =015 (a. ). then Sa + b=
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The angle between the two circles. each passing through the centre of the other, 1s
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Question Number : 54 Question Id : 1017174534 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The equation of the circle whose diameter i1s the common chord of the circles
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Question Number : 55 Question Id : 1017174535 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The equation of the parabola whose axis 1s parallel to the X-axis and which passes through
the pomts (2. 1) (1. 2) (-1.3) 15
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Question Number : 56 Question Id : 1017174536 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The tangents to the parabola 1~ = 4ax fiom an external point P make angles 6, and 8, with
the axis of the parabola. such that tan 6, +tan 8, =5 where b is constant. Then P lies on
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The lines y=2y++/76 and 2y+x=8 touch the ellipse EJrl_"_l If the point of

mtersection of these two lines lie on a curcle. whose centre comcides with the centre of

that ellipse. then the equation of that circle 1s
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Question Number : 58 Question Id : 1017174538 Display Question Number : Yes Single Line Question Option : No Option
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The angle between the tangents drawn from the point (1. 2) to the ellipse 3x* + 2" =35 is
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Question Number : 60 Question Id : 1017174540 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The circumeentre of the triangle formed by the points (1. 2. 3): (3.—1.5): (4. 0.-3) 1s
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A ABC is formed by A (1. 8. 4). B (0. —-11. 4) and C (2. 3. 1). If D is the foot of the
perpendicular from A to BC. then the coordinates of D are

A(l,8.4). B (0.-11. 4) 538050 C (2. 3. 1) oF Etjr.ji A ABC 5%, Ao BC 8§ A

, (4.-5.2)
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. (4.-5.-2)

Question Number : 62 Question Id : 1017174542 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The equation of the plane through (4. 4. 0) and perpendicular to the planes 2y +1y+2-+3=0
and 3x+3y+2-—-8=01s
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If /: R— Ris defined by

x—3 . for x=l
_3 o
. DX . for I<x=<3
Flx)=+
r—10 . for 3<cx<S
2x for x=5

then the set of points of discontinuity of /' 1s

fR->Ra&

Question Number : 65 Question Id : 1017174545 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

*=Tau_IJ d .{—!—Siﬂ-J—-lTﬂﬂ_i 1_—11 ary _
- i) U Vies[Hetg,

Options :



Lad
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A container is in the shape of an inverted cone. Its height is 6m and radius is 4m at the top.
If it is filled with water at the rate of 3m’/min. then the rate of change of height of water

(1in mt/mun) when the water level 1s 3m. 1s
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Question Number : 70 Question Id : 1017174550 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If a cylindrical vessel of given volume V with no lid on the top is to be made from a sheet
of metal. then the radius () and height (/) of the vessel so that the metal sheet used 1s
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Question Number : 71 Question Id : 1017174551 Display Question Number : Yes Single Line Question Option : No Option
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For the function f(x)=(x—1) (x—2) defined on | 0, é . the value of "¢’ satistying Lagrange’s

mean value theorem. is
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X i 3 !
The area (in sq.units ) enclosed between the curves y=x" and y= [x|1s
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Question Number : 79 Question Id : 1017174559 Display Question Number : Yes Single Line Question Option : No Option
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The differential equation corresponding to the family of circles in the plane touching the
Y-axis at the origin. 1s
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The solution of the equation (:r — 4_1 6_1_ v=0.(v>0)1s
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Question Number : 81 Question Id : 1017174561 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In the deternunation of the internal resistance of a cell with a potentiometer, the error in
the measurement of the balancing length is + 1 mm. When the cell alone is connected in
the circuit. the balancing length 1s obtamned at 60 cm and when the cell 1s shunted with a
resistance of 10€Q +2%. the balancing length is obtained at 50 cm. The error in the
determination of the internal resistance of the cell is
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Question Number : 82 Question Id : 1017174562 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A bird is tossing (flying to and pro) between two cars moving towards each other on a
straight road. One car has speed of 54 kmh~ while the other has the speed of 36 kmh™.
The bird starts moving from first car towards the other and is moving with the speed of
36 kmli~! when the two cars were separated by 36 km. The total distance covered by the
bird before the cars meet each other is
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Question Number : 83 Question Id : 1017174563 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A body is projected from the top of a tower with a velocity T =31 + 4J +Skms ! where

i ] and k are unit vectors along east. north and vertically upwards respectively. If the
height of the tower is 30 m. horizontal range of the body on the ground is (g= 10 ms™)
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Equation of a projectile is given by v=Px — Qx” where P. Q are constants. The ratio of
maximum height to Range of the projectile 1s
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Orientation : Vertical

A person of 60 Kg mass i1s in a lift which is coming down such that the man exerts a force
of 150 N on the floor of the lift. Then the acceleration of the lift is (g = 10 ms—=)
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The situations are shown in fig (a) & (b). m each case. m; =3kgand m, =4 kg. Ifa;. a, are
the respective accelerations of the blocks in these situations. then the values of a; and a,
are respectively [ g=10ms—2 ]
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A girl of mass 50 kg is swinging on a cradle. If she moves with a velocity of 2 ms—1
upwards in a direction making an angle 60° with the vertical, then the power generated 1s
(2=9.8 ms—)
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Question Number : 88 Question Id : 1017174568 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two blocks of masses ‘M and “m’ are placed on one another on a smooth horizontal surface
as shown in the figure. The force ‘F’ is acting on the mass “M" horizontally during tume
mterval *t". Assuming no relative sliding between the blocks. the work done by friction on
the blocks 1s
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A uniform thin rod of 120 cm length and 1600 g mass is bent as shown in the figure. The
moment of mertia of the bent rod about an axis passing through the pomt “O" and
perpendicular to the plane of the paper is kgm-.

cA
£

£

QSO Ho ob.

5 884 B, uddg

120 cm &, 1600 g (855073 o w8 868 58 DUt Lt e

fn

£& S o
58 8078 wonor 'O Hoky hom FY wio &yrg Sode
g ite kg m-

Options :

| 0.120
, 0.084
3 0.360
, 0.018
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A solid sphere 1s projected up along an inclined plane of inclination 30° with the horizontal
with a speed of 4 ms~!. If it rolls without slipping. the maximum distance traversed by it is
(g=10ms>2)
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Time period of a simple pendulum of length “L" 1 T;. Time period of a uniform rod of same

length “L’ suspended from one end and oscillating in a vertical plane 1s T,. Amplitude of
T,
oscillation i1s small in both cases. Then. T_l 1s
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Question Number : 92 Question Id : 1017174572 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two bodies of masses 4 m and 9 m are seperated by a distance ‘1", The gravitational potential
at a point on this line joining them where the gravitational field becomes zero 1s
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Question Number : 93 Question Id : 1017174573 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The ratios of lengths. areas of cross section and Young's modulii of steel to that of brass
wires shown i the figure are a. b. ¢ respectively. The ratio of increase in the lengths of
brass to that of steel wires 1s [Assume that the masses of Steel and Brass wires are neghgible]
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Fully filled open water tank has two holes on either sides of its walls. One 1s a square hole
of side x cm at a depth of 2 mi from the top. and the other hole 1s equilateral triangle of side
4 cm at a depth of 6 m from the top. If the rate of flow of water is same from both the holes.

then X" 1s
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Three uniform thin aluminum rods each of length 2 m form an equilateral triangle PQR as
shown in the figure. The mid point of the rod PQ 1s at the origin of the coordinate system.
If the temperature of the system of rods increases by 50 °C. the increase in y-coordinate of
the centre of mass of the system of the rods 1s min.

(Coefficient of volume expansion of aluminium = .13\/?: 10~ )
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Orientation : Vertical

Awall 1s made ofequally thuck layers *P’ and *Q’ of different materials. Thermal conductivity
of “Q’ is half of that of the “P’. In the steady state. if the temperature difference across the
wall 1s 24 °C. then the temperature difference across the layer ‘P 1s
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One mole of a gas expands such that its volume “V" changes with absolute temperature “T°
in accordance with the relation V=KT2 where "K' is a constant. If the temperature of the
gas changes by 60 °C. then work done by the gas (R 1s universal gas constant)
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A monoatomic 1deal gas goes through a cvclic process as shown i the figure. The efficiency
of this process 1s
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Question Number : 99 Question Id : 1017174579 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the average translational kinetic energy of a molecule in a gas is equal to the kinetic
energy of an electron accelerating from rest through 10 volt. then the temperature of the
gas molecule 1s (Boltzmann constant= 1.38 = 10—23 JK-1)

=y [ i
g €9 W20

w8 TPoing G, wd dftn FIedd He=¥E, 10 volt o = I
22

i
ALY

[+
S0 wond 8 T emd eadid

[ —= [+-]

, 773 % 183K
; 773 % 103K

, 730K

Question Number : 100 Question Id : 1017174580 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The transverse displacement of a string of a linear density 0.01 kg nr-1. clamped at 1ts ends
“e)

is given by Y n=0.03 sm[ e ]coa[ 60t ) where X and y are in metres and time ‘t” is

1 seconds, Tension in the string is

Sodk Qe Do &ob, BPab Fod 0.01 kg mr! o o8 Su@S® &858 FdiFoFsm

2nx
&{}Lﬂ =0, 0351]]

JCDS(G{}HTJ m qdcedis. X. Yy bsbed’, sroo ‘1’ DESos’

ol SoBS"Q 8538
Options :

| 81N
, 162N
; 36N
4 IN



Question Number : 101 Question Id : 1017174581 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A closed organ pipe of length "L’ and an open organ pipe contain gases of densities py and
p> respectively. The compressibility of gases are equal in both the pipes. If the frequencies
of their first overtones are same. then the length of the open organ pipe is

L' &) fo Sord &) so's TS Sy of BONE uoe FLdve Sod S8EM

P HBAN Py Foden o ToduPes . Tol MFos™@ Tooder o8 Sondys

50N G, T8 Jdd w&IE FEYS e SSrdd, 808 Tl Ao FEY

Options :

Question Number : 102 Question Id : 1017174582 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two point sources Sy and S, are 24 cm apart, Where should a convex lens of focal length
9 cm be placed i between them so that the unages of both sources are formed at the same
place ?

S1.S; D0 5708 ads7er w8@ ood w88 24 am Srdod” eamon. 9 am Frergo it
He Soogrs d ShEdwnid 78 Py I§.8 ol 51, §; o @8dowre 2.8 Doy 3¢
::JSJ&JE&:T

Options :

| 8cm

, 6cm

10 cm

i

4 12 cm



Question Number : 103 Question Id : 1017174583 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two slits separated by 0.5 mm are illuminated by light of wavelength 500 nm. The screen is
at a distance of 120 cm from the slits. The phase difference between the interfering waves
at a point 3 mm on the screen from the central bright fringe 1s

0.5 mm Sogig drdorio Bod HO¥wd 500 nm SSuiiddgo o s0ed Phho 3.

DO8w Hood BY 120 cm S560S" B0, Soi Jenth H& $ood 8¢ g 3 mm Srdos’

LE}':

£,

o Do 38 S5m0 TWoh oo Gy &7 B&o

Options :
1. T

v 3 I

N

3
4 I T

Question Number : 104 Question Id : 1017174584 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The uniform electric field mtensity between the two plates of a parallel plate capacitor 1s
1+ 103 Vm— acting vertically upwards as shown in the figure. The plates are sufficiently
long and have separation 2 cm. A particle of negative charge 1 uC and mass 2 gis projected
at an angle 45° with the electric field from the lower plate with a velocity ‘u’. The maximum
velocity acquired by the particle 1f 1t 1s not hit the upper plate is

.A

1 %103

Vi de0dm Hbos® Grdhd JFomr SIVHE Hod. & Hodosr SAS FBH Ho8osn

28 Jdredd Hofo IThLE Bwd) Toth Hulo Gy 28568 s TG SIS

R

8 S0y 2 cm drdo §8 Janow. mwe JgmrIdo 1 NC Sodoks (Ghgord 2 g fo wE
8eomQ) (Bod S0 Hod) 8 &Y 45° Faod™ U 3o (HEN0 DO, © Sno SoFH
EESETonS ©b Fod KL Jrdw

1
S e

Options :

, 0.1 ms™!
; 02ms™
3 el

. 2ms

1 ms

=



Question Number : 105 Question Id : 1017174585 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1
An infinitely long thin straight wire has uniform linear charge density of — Cii~!. Then the
3

magnitude of the force acting on a charge 3uC situated at a point of 18 cm away from the

]. 7 |
wire 18 =9x10°Nm*C™
dne,
s of el Bt =S & ey mEob g -5 -/1 e I £ q
@308 PEIN QW BN 8 2 o JE0E TPoh &IF Fodd - Cm. & dod 18cm
— - o -_-..

dodod” flo Dok $& &) 3UC eF3dhin B QT wo H8Hrpo

1
dne,

=9%10° Nm~ C™

Options :

, 10°N

2% 10°N
1
~x10°N

3

- 11
. 37 101N

Question Number : 106 Question Id : 1017174586 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a steady state. a capacitor of capacity 2 |F 1s charged to 4 nC. as shown in figure. If the
internal resistance of the Cell is 0.5 €, then the emf of the Cell is

DEB0ST Sorhd @B Jold RaS” 2 pF 3RS 4 uC S8 eS45rodio Sobhad s,

Hodo 2odd 880 0.5 Q ¢o8 Hatao B8, 5{535::;*3515 200

Options :



Question Number : 107 Question Id : 1017174587 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An electrostatic paint sprayer has a metal sphere of diameter 18 cm and at a potential of

25 KV If it sprays paint droplets. the charge on the metal sphere 15

w8 ¢ Dogd Jots [Ryedd 18 cm orgddn o Y Aerd) 50 Hob Hbotn T

Dedogd FEdw 25 kV. £8 Soih Doddedh Ideendr 4ol, 8 Y Fdo » e

Options :

l

0.5uC
0.25uC
Suc
5HE

-2

[-J

Question Number : 108 Question Id : 1017174588 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When the terminals of a cell are connected by a wire of resistance 4 €. the potential
difference across the cell 1s 1.6 V. If a wire of the same resistance 15 connected in parallel
with the first. the potential difference becomes 1.33 V. The emf and internal resistance of
the cell are respectively

4 Q 360 Ko 848" o duE) Sod Dddo §OLSHE Tl FTI0HS Bdo 1.6V
& J0GEE SR, @08 Ao o FE 8 Sdroddar 5@2}5}@@@ & oo FBIGHS

DG 1.33 V. monsd b0 stgéa*ﬂusi 200 D85L sosd IS EJnen S&BM

Options :

l

2V.20
1v2Q
1V 10
2V.1Q



Question Number : 109 Question Id : 1017174589 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

- : . - R,R
If the charge on the capacitor is 1 mC 1in the given circuit. then % = Q.
3
DE065° SN ity = Q
R;

Options :

p 0.4
» 10
3. 0
4 0.6

Question Number : 110 Question Id : 1017174590 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two concentric coils of 20 turns each are placed i same plane. Their radii are 30 cm and
60 cm and carry 0.4 A and 0.6 A currents respectively in opposite directions. The magnetic
induction at the centre in tesla is

1%

9 ’
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SHirdoTmon. 2owe oo 38 mchdmod oo (Brod)
e el ) - {s L

Options :
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Question Number : 111 Question Id : 1017174591 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two long parallel conducting wires carrying curents are seperated by a distance “x*. Work
done per unit length in changing the distance between the wires 1s proportional o

wodnod

Options :
. X

, log.x

Question Number : 112 Question Id : 1017174592 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Match the following

List-1 List-1I
a)  HighRetentivity 1)  Telephone diaphram
b)  Highresistivity 1) Diamagnet
¢) Low coercivity 1) To decrease eddy current losses
d)  Negative susceptibility iv) Permanent magnet

Boh AV 2SIBD0

erfar -] erdee - 11
) b Ténivd i) BOFS SosrGSows
b) «&E A5°E8S i) ol eoioaT, 080
) w©oy YfTs i) ¢ Pad SFod ShodEs
d) =we I V) #Hd sdhinoso

The correct answer is

HOGS e dSw
Options :

| a-1. b-1i. ¢-111. d-1v

. a-1v. b-1i1. ¢c-1. d-11

; a-1. b-1v, c-111. d-ii

, @-1v. b-ii. ¢-1. d-iii

Question Number : 113 Question Id : 1017174593 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

Assertion (A):  Itis more difficult to push a magnet into a coil with more number of turns.

Reason (R):  Theemfinduced in a coil opposes the motion of a magnet when it is moved

towards the coil.

Yy [

V8o (A):

-

-

§=.j;’.»aa

& Sopg ehior o ol &1 LSS edbanodind Toeihd

Q58 (R) : a8 eadedsnds o Wl 39 sQI0uNYE a1 ol @}55553365;5

ogT0E wodn eddd.od GESEES) f}ge“'ﬁﬁ&o:ﬁ;éo.



Options :
Both A and R are true. R is correct explanation of A.

A. Roo 38gd20. R.ABwE), $88 258

Both A and R are true. R 1s not correct explanation of A
A.Ren $8550. R, ABwE), $35 560 5.

A is true. R 1s false

A Bdgsn, Reddgsn

A is false. R 1s true

Question Number : 114 Question Id : 1017174594 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When a coil 1s connected to AC supply of frequency 50 Hz. a current of 4 A flows in it and
1t consumes 240 W power. If the potential difference across the coil 1s 100 V. then the
inductance value of the coil is

28 & ;:Lé.;éi.; 50 Hz &rd:ddgen o AC SUHTd Sendd Sod, e i how 4A

BogS [BHreRSE H8cko 240 W FHogso IaBriohid. & Sl vothe Hdg
FEIDSE FSSw 100 V wowd 85 oy (wEsSgo
Options :
l
L=—H
1 Sn
1= —H
5, 5
; (5m)H
1
L=——H
4 257

Question Number : 115 Question Id : 1017174595 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



The amplitude of electric field in an electromagnetic wave is 60 Vi L. Then the amplitude
of magnetic field 1s

a8 DsgEosod,of SoKo St &8 BI¥ KBH Jend 60 VN eond wahdyod §&

ABa Dend

Options :

L 2x10'T
. 6x107T
, 6x107T
<107 T

()

Question Number : 116 Question Id : 1017174596 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Both an electron and a photon have same de-Broglie wavelength of 1.2 A. The ratio of

their energies 1s nearly

o8 JoEd H8cin w8 Pl oF &0 00iaYgHn 1.2A 508 ¢, wowd T8
o G dsdm

Options :

1l

» 1:10

; 1:100

4 11000

Question Number : 117 Question Id : 1017174597 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The radius of orbit of an electron and the speed of electron in the ground state of hydrogen
atom are 5.5 » 1011 m and 4 < 10% ms1 respectively. Then the orbital period of this
electron in the first excited state will be

QOETR 55 GI08), argardo Suboin @ e S8Srmny) ), drdrondT Jufgﬂﬁ Te
& [F+] & =
SGdm 5.5 * 10711 m S5o8e50 4 * 108 ms™L. ©ond Inds 828 Fond® & IOT

G008), Bgrgidd oo

Options :



9.608 « 10-16
, 8.9068 » 10-165
, 7.806 % 10165
, 6.908 x 10-165

—

Question Number : 118 Question Id : 1017174598 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The half Iife of a stream of radioactive particles moving along a straight path with a constant
kanetic energy of 4 ¢V 1s | minute. The percentage of particles which decay before ravelling
a distance of 3.6 km is :

(Mass of the radioactive particles= 3.2 » 1021 kg and charge of the electron=1.6 » 1019 C)

#

4 eVo Y H8z 388" o8 S868yr Srgod & BEBrgro)E e Fle @Y

£ddsroo 1 dddo. 3.6km drdo Hosmmo THR0E §obddtag §mme T80
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Question Number : 119 Question Id : 1017174599 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A zener diode voltage regulator operated in the range 120 - 180 V produces a constant
supply of 110 V and 250 mA to the load. If the maximum current 1s equally shared between
the load and the zener diode. then the values of load resistance (R; ) and series resistatnce
(Rg) are respectively

258 $Gr8 L82 Joho s ol 120-180V .—.:“5: &S° R8G9, 110V Sob8asn 250 mA D
QoI AT TRE A ol. H0Q IS BT 7T Fe, m.aﬁ E3r&en S0ddrdom
DowE0d, erdRTdo (Ry) Sodoiw @ 98¢0 (Rg) dwoden HKdHmM

Options :

R =70 Q. Rg=2800
, Rp=440 Q. Rg=1400
Ry =440 Q. Rg = 1400 Q



R;.=280Q.R=70Q

Question Number : 120 Question Id : 1017174600 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The process of recovering the modulating signal from the modulated carrier wave is called

i r

SordugBas Fobwdsd s oo ol JrgBloR So8ddnd PIHEooD BB
b
Options :

Amplification

5855

Recnfication

Detection
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Display Number Panel: Yes
Group All Questions: No

Question Number : 121 Question Id : 1017174601 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The energy and radius of electron present in second orbit of He™ respectively are

He™ BodsS 8537 &) dogs 98, ogrdo S8dm
= H

e

r—
L

Options :

—2.18 x 107'% 1. 105.8 pm
—4.36 < 1071], 52.9 pm

~1.09 » 107* 7. 105.8 pm
, 872~ 10718 7. 211.6 pm



Question Number : 122 Question Id : 1017174602 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The work functions of Ag. Mg. K and Na respectively ineV are 4.3. 5,2 .30. When
an electromagnetic radiation of wavelength of 300 nm 1s aﬂowed to fa]l on thesf: metal
surfaces, the number of metals from which the electrons are ejected is :

(1eV=1.6022~1017]

Ag Mg K. Naa 5@ pabairen eV oes® Sddm 4.3, 3.7, 2.25. 2.30. chelelytalefie 300 nm
e Dgdiohnm.o8 386 il FirderaD & GoldHd Of) S50 K0 JE-E:EEEJJ
IenSdieron? (1 eV =1.6022 x 10712 J)

Options :

;3
4

12

3 3
4 2

Question Number : 123 Question Id : 1017174603 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) : Na™ and Mg ions are isoelectronic but the ionic radius of Na™ is greater

than that of Mg™*
Reason(R):  The effective nuclear charge of Na*ion is less than that of Mg  ion
a0 (A): Na*. Mg* e DDAVEFNE wairde. 57, Na* wosras agargo, Mg

Tgrgo Sof Q8D
80 (R):  Na© ecirS @erd8 Sois adfo Mg? woird 0@ S5.5

Options :
Both (A) and (R) are correct and (R) is correct explanation of (A)

(A) S8oin (R) e 3060032, 3n0odn (R) whds (A) 8 S6G08 D,

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) $:8050 (R) e 5833050, (R). =588 (A) 5 20608 280 5.
(A) 1s correct but (R) 18 not correct

(A) H30g058 57 (R) Soghde s h.

(A) 1s not correct but (R) 1s correct

(A) 386086 5= 570 (R) Ho588.



Question Number : 124 Question Id : 1017174604 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Lewis structure for O; molecule is given below:.
The correct formal charges on oxygen atoms labelled 1. 2. 3 are respectively

O; @0 aroor Jo7e $od adgmiod.

wond, 1. 2, 3 eur Hifoddd ehed Hddrande I050S F0d oden IS

L]

1
Options :
1 -+l.0-. _.I.
, —1.0.+1
5 0.+1.-1
, +1.-1.0

Question Number : 125 Question Id : 1017174605 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the following are having. diamagnetic property?
§ol T8 dosr wohTyod (o) §OASD D7

(a) B, (b) N, (c) O, d G

Options :

. a.b
, b.c

3 a.d
4 b.d

Question Number : 126 Question Id : 1017174606 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



At 27°C m a 10 L flask 4.0 g of an ideal gaseous nuxture cmlﬁinjng He (molar mass
4.0 gmol™ 1) and Ne (molar mas:-. 20g 11101_1} has a pressure of 1.23 atm. What 1s the mass%o
of neon? (R=10.082 L atm K mol™)

27°C 3¢ 10 L agrdge” &) 4.0 g =48y a7odn oESces® He (Srerd (55073
4.0 g mol™), Ne (@rers @Sgo78 20 gmol™h) &Sk o Haso 1.23 am wond
D05FS (B$Sg03 w0 Jog? (R=0.082 L atm K~ mol™?)

Options :

| 842

v 28:2

, 742

4 62.5

Question Number : 127 Question Id : 1017174607 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two oxides of a non-metal X contam 50% and 40°% of non-metal respectively. If the fornmla
of the first oxide is XO,. then the formula of second oxide is

00 wSr dfifod” adro X SHHm 50%. 40% 50, Ius8 «iyk ordyer X0,
wond, Dol =B Frdner 2Dne?

Options :

X0,
X,0

l

X,0,
X0,

[

Question Number : 128 Question Id : 1017174608 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The enthalpy of formation (AsH) of methanol. formaldehyde and water are —239. —116 and
—286 kI mol™ respectively. The enthalpy change for the oxidation of methanol to
formaldehyde and water in kT is

NBITS, o, e FSOranr‘a am@m: (A¢H) Sdhidm —239.—116 Sodbain —286 kI
mol ! wonsS WwEFS w§gsno Tod ToErd, 06 63 S658 Jogdy Sy
KJ e3¢5



Options :

| —136
, —173
5 — 163
s 163

Question Number : 129 Question Id : 1017174609 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

]} H3P04 (Hq} — H_{aq] +H2PO;{-H[]_]
i) HyPO g = H' (s *HPOZ (o

i) HPO} o = H (PO} (g

The equilibrium constants for the above reactions at a certain temperature are K. K, and K

respectively. The equlibrium constant for the reaction HyPOyaq) = 3H (4T P 2 ' (aq)

n terms of K,.K, and }‘-3 18

i) H3PO4(ze) =H(,,,+H,POy..)

i)  H,POy.,, = H+(z-.-;1+m0§_ia-~'i

8 Q0R GaP(iE 3¢ 2 JOgo deysd poosten SHIM K. K, K;w0085°
S = o £

]
aTTT

— 3- i3 SR A = e iy T - FOC r i - o 5o .
H3P04(__L‘} — 2 {_:,_.'}'1_ P04 (=) j(ﬁé c;E.'L-E"-_:q}}E_E Eh-i"@éﬂ I&l. I\E' 3;3 e Ddom aJI:}-P:E‘?

Options :
K +K,+K;y
KI
, Kotk
K3
; Ky Ko
K, %K

Question Number : 130 Question Id : 1017174610 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



The equilibrium constant (Ke) for the following equilibrium

at 563 K 15 100. At equilibrium. the number of moles of SO5 in the 10 litre flask 1s twice
the number of moles of SO,. then the number of moles of oxvgen is

563 K 3¢ & (Sob Sdgs dbeps §o7080 (Ke) Jend 100.

08 3¢ 10 8¢ FES* SO3Frdo Sopg. SO, TrSe Dopgs BHoHm &Ky,

sfizo droY Dogg Jos?

| 0.3
., 04
. il

, 02

Question Number : 131 Question Id : 1017174611 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How many mullilitres of 20 volume H,O, solution 1s needed to react completely with
500 mL of acidified IN KMnO, solution?

500 08dird wans)E IN KMnO, @@dmed® Spom S0 atehsy I0) @D
20 3858870 H,O, @dno add650M0i?

il

bisg

Options :

. 56
. 140
224

. 280

Question Number : 132 Question Id : 1017174612 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following statements is not correct?

[

ol F705° IO HOEIS DG §7W?

Options :



Alkah metals react with water liberating oxygen gas

sTOeS%en WS SOg 20D whzd Tobdd ddGe Boswd

The hydration enthalpies of alkali metal 1ons decrease down the group
g0 esoirde r@BAS JogFden (rDY° §ods Fond FH dheron
KO, is paramagnetic

KO, o~ wohimod o) Sradyod

Lithium halides are some what Covalent in nature.

A& oio ﬁ@ﬁm o §55T08 cjmé@ 500 fotTon

Question Number : 133 Question Id : 1017174613 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In which of the following reactions. hydrogen is liberated ?

(a) Al,+HCl  ——

(b) Al +NaOH, —

(c) NaBH,+I,——

80B S0gee® ool TFEFRD D6 ©rH?

(a) Al

@y tHCl oy —

(b) Al +NaOH_  —

32) (@)

() NaBH,+I,——

Options :
| a.c

.

3 b.C

. &b

Question Number : 134 Question Id : 1017174614 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Which one of the following statements is not correct?

£ B0 T Qb HOEH IS0 5E?
Options :
In CO molecule. there are one “sigma’ (o) and two “Fi” () bonds.

CO weoodes® a8 D

1
&
1 =

" (o), Do B (7) woren So

2

Both [SiFg |~ and [SiClg]” ions are known
[Sjl:ﬁ]} o030 [Si(‘lﬁ]l_ @35> Dok woird) g

In CO, molecule, carbon hybridisation is sp

CO,; w20 5°6\S Do8086m0 Sp

L

Fullerenes are made by heating graphite in an electric arc i the presence of argon
gas,

eord o0 HH0Foes® TRk Hganded DADHY Pl SoirdHearown
it =t A = w

Question Number : 135 Question Id : 1017174615 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following forms holes in the Ozone layer?

Boh TS LED 05 JoTed: D{S&iﬁﬂi}eﬁ& B

; CO
, CE

Question Number : 136 Question Id : 1017174616 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Identify the correct statements from the following
a)  Electromeric effect is a permanent effect
b)  Hyper conjugation is a temporary effect

¢)  Fractional distillation 1s used to separate two liquids from a mixture if the difference
in their boiling points 1s less
d)  Different compounds are adsorbed on an adsorbent to different extents

Boh 735 HBEE DSGpd HHoSodk

)  QOEMOE PErdo FHIDIO

b) w8 Hookniy Perdo eedENs6

€) 88 w038 SN0 AHDTA0N, rFSS LT B S83.9m &5 od (Faeod
T8 WS Hod IHTIT®H

1t wSHess® wfffimo FodHeon

o

d) Fhed SFndTen LTS D
o
L} ity o

The correct answer 1s

HOELH DIPEEED

Options :

, c.d

2 8. D,C

; b.d
;. Bed

Question Number : 137 Question Id : 1017174617 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The gaseous products formed at cathode (X) and anode (Y). when an aqueous solution of
sodium acetate 1s electrolysed are

Fa -

(Y) © 86 26\@ aron eehyanen

C.H, . H, CO,

I



L0, C,Hg . Hy
X Y
H, C,H, . CO,
5 = =
X Y
X H, . CO, CH;

Question Number : 138 Question Id : 1017174618 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the correct statements for a ring system to exhibit aromaticity
a)  Itmustnot be planar

b) It must possess (4n + 2) m electrons

¢) Itmust be planar

d) It must possess 4n w electrons

2.8 Hood 555 SN0 RE00SEras siohd 003 DSdeed miodod
a) = Sddoonr sodord

b) =28 (4n+2) TIOF RS 89 trodSTH

C) «wb dHHodoomr womd

d ==64nn .-.:)E}LESEE_‘-EEO §8 &odIBDH

The correct answer 1s

HBGHE Hdrgrdan

s b.d

Question Number : 139 Question Id : 1017174619 Display Question Number : Yes Single Line Question Option : No Option
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An element has a body centered cubic structure with a unit cell edge length of 400 pm.
Atomic mass of an element is 24 gmol™!. What is the density of the element?

(N, =610 mol™)

wo#BoEE NS JTPHNG® @) wf Jrofdn 0Lrdd e wod &dd 400 pm
Soresh H0Srm (55073 24 g mol™! wond wd rodd Jos? (N,=6%102 mol™?)

Options :

| 3.60 genr

, 1.80gen™?
1.25 gem™

, 250 gemr

Question Number : 140 Question Id : 1017174620 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

31 g of ethylene glycol (C,HO,) is dissolved i 600 g of water. The freezing point
depression of the solution is (K, for water is 1.86 K kg mol ™)

£

31 g » u&dd as'8 (C,HO,) & 600 g Qides® EBhRodm L}rjgéa% PSe0 DoAgSS a;;‘i
&L K

D30 D02 (e Densd 1.86 K kg mol™ L

Options :

3.10K
» 465K
0.77K
155K

Question Number : 141 Question Id : 1017174621 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following solutions of compounds show highest osmotic pressure?
(AB. AB- and A,B; are ionic compounds)

% (fod Sndare av Edwredt @ff (@l 2850 IS Ha?
(AB. AB; 508050 AB3en @oirds S #amen)

Options :



3.0 M AB type 1= 1.6 and temperature 15 27°C
3.0MAB G850 1= 1.6 500050 erapyis 27°C

2.5MAB, type 1 =2.5 and temperature is 57°C
25MAB, 6835 1 =2.5 50080 & 57°C

1.5MA,B; type 1 =4.1 and temperature 1s 27°C
LSMA,B; 6850 1 =4.1 50005 &agds 27°C

5.0 Murea 1 = 1.0 and temperature 1s 67°C
5.0 M osardasir i = 1.058ak0 &g 67°C

Question Number : 142 Question Id : 1017174622 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

20% of a first order reaction was found to be comipleted at 10 AM. At 11.30 A M. on the
same day. 20% of the reaction was found to be remaining. The halflife pertod in minutes of
the reaction is

a8 B |FSros 4 wdobo 10 fovedd 20% Iri wondin AHoodadss. =i
Fer @dodn 11 dovre 30 Dvare HH05rd8 20% Srgh $65 DAd e

fdodndds. w S VTE50Y csnarees® Jogs?

Options :

. 90
60
45

. 30

L3

Lad

Question Number : 143 Question Id : 1017174623 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Same amount of electricity 1s passed through aqueous solutions of AgNO; and CuSO,. The
mumber of Ag and Cu atoms deposited are x and y respectively. The correct relationship
between x and v 15

AgNO, 506050 CuSO, 2o |THere How &8 505006 HEgEs S0 VHIYHE
85318 Ag, Cu dddrmmde Homg SO x. ¥ wond x. y o g $85 Sowodio
Options :

i, =¥



)
5 K=Y

g ey
5 f AR

4. B5F

Question Number : 144 Question Id : 1017174624 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Colloidal solution of gold i1s i different colours like red. purple. blue and golden
because of

e Berondg [@S0o 833, o, D80, Bomrd dorerodd DG Sobhes® Eotuod.
G608 58200

Options :
Size difference in the particles of gold

ﬁ“g’gw_ Bogrey H0A700eT S Goffiidy

Variable oxidation states of gold

a8y o w8g5 Reben Hofisn

Presence of impurities

anfaen wodddn

Ll

Difference in the concentration of gold particles

ﬁ"‘rg Soorey msSeSt 3 &odidn

Question Number : 145 Question Id : 1017174625 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Copper matte contains

500 SrdieT fothidd
Options :

Cu0O. C 1135

, CuO. FeS
Cu,S. FeS

e 1125. FeO

2

Question Number : 146 Question Id : 1017174626 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



S+Conc. H,80, —» X+Y
Here X isa gasand Y 1s a liquid and both are triatomic molecules. The number of electron
lone pairs present on the central atoms of X and Y are respectively.

S+me H,S50, — X+Y

2§ ¢ Xarotnd, Y (@550, 2ond Dodr @adhra anden. X, Y o Sodd Hddrange
2 58 2080 JoE:R ado Hopg SEdT

Options :

. 9.1

2

)

]

[
=

Question Number : 147 Question Id : 1017174627 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following is used in the estimation of carbon monoxide?

Bob &e® BAD TS IraghEd VYoroITNE EHATATE?
Options :

(?12 O,
Btﬂ;

l

(]

1,0,
Lo,

Question Number : 148 Question Id : 1017174628 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

To prepare XeF .. Xeand F, are mixed at 573 K and 60-70 bar in the ratio of

XeF  #530¢8 o308, Xe. F, araiodeods 573 K. 60-70 erde 5¢§ & 2:85° send=hH?

Options :

[ 1:20

+
L



Question Number : 149 Question Id : 1017174629 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What are X and Y in the following reactions ?

Bod ddgos® X, Yeu ad?

a)  MnO, +I —F X

b) MnO;+I—225Y
Options :

C105.1,

I, .10;

LJ

10; .10;
L 10;

Question Number : 150 Question Id : 1017174630 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify. from the following. the diamagnetic. tetrahedral complex

Bod 78T dofr mohay od, JErErES So3ara) Miodod

Options :

| | Ni(CN), |
Ni(Cl) 4]3_
| Ni(CO

_[Ni(co), ]
g 3_
Co(C,O,

g B { 2 4_}3j|

Question Number : 151 Question Id : 1017174631 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following 1s not used as an initiator in ionic polymerisation?

Bo& &8s B =oirdE TFdHiEdn0S |THogisorT &OBTN0SEH?

Options :



AlCL,
SuCl,
NaNH,

(C¢HsCO), O

Question Number : 152 Question Id : 1017174632 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the statements which are not correct from the following

a) Carbohydrates are stored as glycogen in animals
O

b) In glycylalanine, — ly — of peptide bond belongs to alanine
¢) Base -Sugar - phosphate unit 1s known as nucleoside

d)  Obesityis due to hypothyroidism

Bos e JH6EHD 5 JHdred MHiodod

a) SO FT@Em 2oHHwS® T8I Erdodt Heg roiron
= et
O

b) TS J03d0 PG wofo BNE, — C— IVIIB JobSH
o
¢) glo-I8,0-rRd chrdt Srghdirpd wotrd

d) Grdgoondzn Sod dsasoho e

{ < .

The correct answer 1s

DBE@IS HAFITHI0
Options :
, a.c.d

, a.d



; b.c
4 b.c.d

Question Number : 153 Question Id : 1017174633 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
Which of the following structure represents the compound. generally added to soaps to

umpart antisepiic properties?
> 2E¥do Bob it D

L

508 Gomods §dhodtrald Sagnod Fpdmom E9

X EOR srodnod?

fJTO)E90

Options :
S0,NH,
| NH,
Cl OoH OH Cl
5
3 Cl Cl
8]
] =
H.N S—NH \
; n A,
3 @]

gj
5
2

Question Number : 154 Question Id : 1017174634 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
The drug. which was designed to prevent the interaction of histamine with the receptors

present in the stomach wall 1s :
B8 S0k

44850 Fed® o rrsos® IRl adnh S6gh I5°00Sa" N8 drHgeys

Options :

Equanil

aTyeR
| 'E?S‘G-jr}-}-



Prontosil
(S

Aspartame

K N

I-."GL
."I

SEvL]

Cimetidine

!

LN

=i

foam

F',.IT|

L

Question Number : 155 Question Id : 1017174635 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following is more reactive towards Sy~ reaction?

Ly

gl 5 - * #
Eod TE3e° D8 Sy IgHe) whE Sorgiesdy HEdE

Options :

(CH,),CX
(CH,),CHX

1

CH, CH,X
CH, X

Question Number : 156 Question Id : 1017174636 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



What is Z in the following sequence of reactions ?

i r

C
N *d 4
CH; « l L
amyacr  (Major)
(|
r Za-Hg!
X Conc HCI
L

§od |ESordoIgees® Z 267

C
£ N r £
CH; I -
=g AICH (lE3g7d)
1
- Zn—Hg/
X e HCH
7
Options :
- —CH,
5 —CH,—CH,
—-C-Ci
|
3 O
~(~CH;
s O

Question Number : 157 Question Id : 1017174637 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Identity the statement which 1s not correct?

Sob art3e” BOGHY D0 5 A BTk

Options :
Freon 12 is manufactured by Swarts reaction

@oIre 12 % S%&5) 65 ogor &8 TTED
C HCl 15 stored in closed. dark coloured bottles

CHCI; B doth Rares® Hhod Jeg oD

Chronic exposure to CHCI, causes liver damage

CHCI, & Gg s ooartn H0 «ondsdd sBobo IEHdod
]

L

Dehydrobromination of 2-bromopentane gives pem—l-eue as the major product

2555 DoBID GIRE @B DAE000 IR Dod-1-48 Pl edSomr dfdod

Question Number : 158 Question Id : 1017174638 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The increasing order of acidity of the following carboxylic acids is

Bod 5§08 eslre, widio BN 0o

COOH COOH COOH COOH
NO, OCH; CH,
(a) (b) (c) (d)

Options :
 ashed<e
st <d<a<b
3,;:fz:de_::b-:

b <e¢g <d:=

iy

Question Number : 159 Question Id : 1017174639 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



What are X and Y in the following reactions?

Bob Ssgees® X, Y e 97

cH,0—®2 X _ ,cH,(CH,),CH,0H
= (1) H;O7 = = =

y D QMR , cH.CH,C(CH;), OH

(i) H;0
Options :
X X
CH; — CII—I — MgBr (H.COCH;
| CH,
X X
CH; —CH, — MgBr CH,CH,CHO
X X
. CH,CH,CH,MgBr CH; —-CO—CH,
X X
, (CH;)C MeBr CH; - CO-CH,

Question Number : 160 Question Id : 1017174640 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical



L2

What are X and Y in the following reactions?
Bob dogees® X, Y e 207

NH 1
Bl’} H ;) 8] . X
NHCDCH3
Bry/CH;COOH Y
Options :
X Y
NH 1 NHCDCH_«,
| Br Br
X p
NH1 IIE"JI-I'[]'JIEZ‘{-I:|
Br Br Br Br
Br Br
X ¥
IQH: NHCOCH 3
Br Br

Br



NH,

Br Br

Er

NHCOCH;

Br
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